


Tenaaa vpPooraa -

YMHOKECHUE
MHOro4sneHa

Ha
MHOIO4JIEH

.



Llenn  ypoka :

CITHThHBIBaOTE BHIHITMAOHEIC.



MOBTOPEHUE

\



PEHIUTDb YPABHEHHE

5%+ 3x =0 m Q

2 — 7 X+2




TECT

B) 3x* - 2x

l. 2x(x-1)
A)2x2 -1

b) 2x? - 2x
2. 58 (a-B) + 58°
A) a

b) Sae

B) 5as +108°

3, 3(x+1) - 2(x-1)
A) 5x+2
b) x+5

4) 4y* — 2y(y+3)
A) y*-3

b) 2y*-6y

|B) 2v3+3

B) x

TECT
I, -3x(2x-1)
A) -6x°~1
b) -6x-1
B) -6x* +3x
2. 88(2a-B) + 8B-
A) 2a
b) 16aB +168°
B) 16aB
3. 3(x-4) - 2(x-4)
A) 5x+8
b) x-8
B) x-4
4) 3y’ — 3y(y*+3y)
A) 3y?
b) 6y'+3y*
B) -9y?

1. -2x(4x-2)

. 5a (a-28) + 10as

203+ 1) - 3(x-1)

4) 6y*

- 2y(2y+2)

S) xA2x+1) + x( x-1)



BBIMOIHATH YMHOXKEHHUE:

1 2 3
' 3a (2a+3B—-1);

2 3 2 3 3
- XY (-3Xy+X y—Xx+Yy);

(-2xy )" (-3xy).
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2.

Gl 6mﬂ G

i (n+k mk;

(a+b)0=-xa-xb;
0-(ab-B)=a3b—-a

3 2 2

wu ='ab+ab.
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PaccMOTpHUM IIPAUMEPHI:
ripumep 7.

BEIOITHUTE YMHOXKEHHE:
(a-1)(b+2)=
a-b+a-2-1-b-1-2-

Zazbzz




npumep 2.

Hawntu rmpous3BencHue:

(2+3x)(3-2y)=
w+9x—6xy



npmnMmep 3.

BbINOSHUTE YMHOXEHue:
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npumMmep 4.

YIIPOCTUTE BEIPAXKEHUE:
2 3 2
(x +3y)(2x -y )=

5 2 2 3 3
= 2X -X y +6X y-3y
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